2-Persan

Power Earth Auger
9800H Technical Manual

(Insert to OM9800B)

Shown with optional
14" tree potting auger

ARDISAM, INC.

1690 Elm Street; PO. Box 666
Cumberland, Wisconsin 54829
Phone (715) B22-2415  Fax (715) 822-4180

All Rights Reserved. Printed in USA.

TM9800H
1-800-345-6007 Revision11/10/05
www.ardisam.com © Copyright 2005 Ardisam, Ing.




'EARTHQUAKE MODEL 9800H

MINIMUM ORDER .........cccvctrvemrrerrcrnnee N SO 3 10 X [0

1423
BO06eWC
8912
8913
8914
8915

8919
8922
8923
8924
8929
8935
8939
8985
9016
9211
9214A
9805A
9814
9816
9817
9819
9822
9825
9832
9837A
9840
9841
48300
53596A
536064
GCV160
IB5810
IN58
WKé

DESCRIPTION
NUT-LOC, 5/16-18 BI-WAY ZN ..o

TOGGLE SWITCH, ON-OFF .......
NUT, 10-32 HEX NYLOC .........
BOLT, 5/16-24 X 3/4" C-BORE ..
BOLT, 5/16-18 X 1-1/2" HH............
LOCKWASHER, 5/16" SPRING.............

GEAR, 44T 3/4" HOLE .....ooveectrierneccere e
SHAFT, OUTPUT 7/8" ......
GEAR, 48T HARD ..o

DOWEL PIN, STEEL 1/4" X 1/2" ..oocoveeeieeceen,

GASKET, POWERHEAD TRANSMISSION
BEARING, BALL R12 DOUBLE LIP
BEARING, BALL R10 ........ccocevrnne.
RING, SNAP EXTERNAL 3/4" ...ocoovirrieiveninrenene
BOLT, 1/4-20 X 1-1/2" SHCS .....oeeeevnene,
BOLT, 1/4-20 X 2-1/2" SHCS .......coeeu.....
GEAR CASE, LOWER HALF W/BEARINGS
GEAR CASE, UPPER HALF W/BEARINGS
CLUTCH DRUM, 3" THREADED ..............
HANDLE GRIF, 7/8" ID FLANGELESS ....................
GEAR, 10T CLUSTER PINION HT .....cocoevevevrnae ]
CABLE ASSY, THROTTLE CONTROL. ...
GEAR, 7T PINION THREADED .............
HANDLE ..ot v ssnnssssssssss st e
HANDLE W/THROTTLE HOLE ..........coovvvreeaeee.
HANDLEBAR FRAME WELDMENT .
BEARING, BALL R14-2ZRS ..o,
ROTOR, CENTRIFUGAL CLUTCH ASSEMBLY ... |

SPRING, THROTTLE CONTROL .......ccccecvruunnen. 1
MOUNT RING ..o 1
PLATE ADAPTER, MOUNT RING .......ccoovrernnne. 1

BRACKET, THROTTLE CABLE CLAMP............... 1

BOLT, 5/16-18 X 2-1/4" HHCS GR5 ZN oo 1
CLAMP, CABLE YELLOW ZINC ..o, 1
TAB, THROTTLE ...ooaeeeooeeeeeeerevesres s resres s 1
ENGINE, 5.5 HP HONDA VERT SHAFT .ovvvvvon.. 1
BOLT, SMM X 08 X IOMM HH ZN ..o, 1
NUT, 5SMM X 0.8 NYLOC .o

WOODRUFE KEY #6 .....ooeceoccocmrrvenrneeresssscrrosen 1

ﬂ ﬂ l]/— 8935 (4)

8929

Page2



	00000001
	00000002

